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Plot Sensor and FgRec Data
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Trend plot
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P3-15

BYiE) | GEBERTIC (RD) | EBE (BAH/FK) | BREE (BF/R) | X8 ERE

05:30 283 150.0 2.888 FE| 1BRi%@05:30 B (FkAERE)
06:30 283 150.0 2.888 FE| 1BRi%@06:30 B (kAERSE)
07:30 283 150.0 2.888 FH| 1Bi&@07:30 Bah (KRAMEREE)
10:15 283 150.0 2.888 [Z=| 1®Ri%e10:15 Bzh (REAERESE)
13:00 283 150.0 2. 888 FA| {Ri&@13:00 Bz (RAEREE)
13:40 283 150.0 2.888 FH| 1BRi%@13:40 Bz (kBERSE)
14:15 283 150.0 2.888 FH| 1Ri%@14:15 Bzh (GREBERSE)
14:50 283 150.0 2.888 FE| 1BRi%@14:50 Bz (kAFERSE)
15:35 283 150.0 2.888 |Z=| {Ri&e15:35 Bz (REAEHE)
Bit]2547.0 (9%) 1350.0 3EUHIKEC: 2200, PH: 5.6

TERRHLER 2 STEIEARTF (184.0 :

ZRIAKFREBRE147.0 ml.
large discrepency for begining water status (316:21.0), set to 316 ml.

REVZ WS RIERPH 5.6, BT FEFNIEIZPH, FEFohiFE

P EKECE (1803.0 vs 5297.0) d 5
FREVEIN S K KEC 2200. 0

147.0), AlEEHT—R % XA HS




ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

"MW ]

[ME,

P3-15_0, Day=73 (2025-06-12)
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Warning: lcol ["WC1',  "WC2'] missing

optEC0=2829. 0, setECB=2200

Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing
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m=925, FV0=0 m=985, FV0=0
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P3-15

FfiE) | EBIATK (FD) | ERE (BEA/4) | BEREE(B/R) | XS ERE

06:55 283 150.0 2. 888 RS {Ri%e06:55 Bz (REAERSE)
07:30 283 150.0 2. 888 sl {Ri&e07:30 Bal (REERHE)
08:30 283 150.0 2.888 RS {RRi%e08:30 B (REAERHEE)
09:15 283 150.0 2. 888 RS {Ri8e09:15 Bz (REERSE)
09:55 283 150.0 2.888 S| 1Ri&e09:55 Bah (REEESE)
10:35 283 150.0 2.888 RSl {Ri&@10:35 BHal (REAEHE)
11:15 283 150.0 2. 888 e Rige11:15 Bz (REAERSE)
11:50 283 150.0 2.888 el Rige11:50 Ba) (REERESE)
12:20 283 150.0 2.888 Bl Rige12:20 Bz (REAEHSE)
12:50 283 150.0 2. 888 RS Ri&e12:50 Bzl (REAERSE)
13:20 283 150.0 2.888 | Ri%@13:20 Bz (REERESE)
13:50 283 150.0 2.888 el Rige13:50 Ba (REAEHSE)
14:20 283 150.0 2.888 B Rige14:20 Bz (REAERE)
14:50 283 150.0 2.888 S| Ri%e14:50 Bz (REERSR)
15:20 283 150.0 2.888 el Rige15:20 Ba (REAEHSE)
15:55 283 150.0 2.888 BS| 1Ri%e15:55 B CGGREEESE)
16:35 283 150.0 2. 888 e {Rige16:35 Bzt (REAEHSE)
17:30 283 150. 0 2.888 5| {Ri1%e17:30 B3h (RBfERKSE)
24it]5094.0 (18%%) 2700. 0 3EHKEC: 2190, PH: 5.6

FEREHEME STEAERST (184.0 : 147.0), AIEEAT—@E XAHE5
ZRIAKFREBRE147.0 ml.

large discrepency for begining water status (210:12.0), set to 210 ml.
WEEY S R EPH 5.6, HTHEYAZIFENEREPH, 5FohiEAE

[E;&EC 5667.0 Kis, EiNFA{RKECAERAIEER

#E[ERECE (1847.0 vs 5667.0) 35

RIS R REC 2194.0



ET (ml/hr/plant)

ET (ml/hr/plant)

P3-15_0, Day=72 (2025-06-11)

T e g g e S S B S g

- : 3128
VI,V?nﬁﬁv,ET VI, V0, FVI, EVO, FRV, ad jFRV, ET [ 3000

100 42200 067
- 2000

50 7 L 1000

20 Warning: lcol [FVI',| "FVO’'] missing 60

FRV (ml plant-1)

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2743. 0, setECB=2190

Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing
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m=890, FV0=0
42.0 1 —— MW
41.5
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m=930, FV0=0
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